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The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
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If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1.

10.

Vasco da Gamma firstly landed at Calicut in the Year

A) 1453 B) 1498 C) 1503 D) 1524
. By which treaty the power of Malabar transferred from Sultan of Mysore to the
British ?
A) Treaty of Hyderabad B) Treaty of Madras
C) Treaty of Sreerangapattanam D) Treaty of Mangalore

‘Atmopadesa Sathakam’ written by which social reformer of Kerala ?

A) Chattambi Swamikal B) Sahodaran Ayyappan
C) Vagbhadanandan D) Sree Narayana Guru

Who is known as Kerala Gandhi ?

A) K. Kelappan B) K. P. Kesava Menon

C) Vakkom Maulavi D) K. Madhavan

“If there be paradise on earth, it is this, it is this, it is this” — words of Mughal emperor
Shah Jahan engraved in the walls of which Palace ?

A) Diwan-i-khas, Delhi B) Red Fort, Delhi
C) Taj Mahal D) Moti Masjid, Agra
The social reformer who founded Ramakrishna Mission.

A) Dayananda Saraswathi B) Vivekananda

C) Annie Besant D) M. G. Ranade

The Nationalist who propounded ‘Drain theory’ against British economic exploitation
of India.

A) Pheroz Shah Mehta B) Badaruddin Tyabji

C) Gopala Krishna Ghokale D) Dadabai Naoroji

‘The Fall of Bastille’ is associated with which Revolution ?

A) French Revolution B) Russian Revolution

C) English Revolution D) American War of Independence

Who worked as the Chairman of the State Reorganisation Commission of 1953 ?

A) K. M. Panikkar B) H. N. Kunzru

C) Fazal Ali D) G. B. Pant

The ‘Kargil War’ of 1999 between India and Pakistan is also called as

A) Operation Vijay B) Operation Parakram

C) Operation Desert Fox D) Operation Blue Star
-2-
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. unavGsET L Saom (LpSeit (LpFedley CHmflECasr(h) aubg aihL_Lb

A) 1453 B) 1498 C) 1503 D) 1524

. 6Th% QRUILIHSSHGT eLpevLb LoVLITHGT BHTILD OLDEFT F6VS M6 LO bS]

9,B1G Cov 1% Ehdh @ LOAPOLILIL L & ?

A) @ansirLnd QLILIBSLD B) O gmev eriLibsLb

C) wfomsiiu’ L _ewib eUiLibsLb D) wrisesni @LiLbHLD

‘Y FCTLCEF 5551D° Cagermalled 61hs Feps FiF(HSSUTHUWITD 6T(LPSLILIL L F) ?
A) F L b1 &eumHser B) #Gamnsyesr ouiwiiLie

C) eumsLL_meshg et D) wf mrgmwest &

Cager 155 6165 YeOLPSHLILIBLIGIT ?

A) Gs. CxeriiLiet B) G..9.Cs5a1 GLoesest

C) awsGsmb Goareval) D) Gs. wagaies

“YyLhluiey Qenissd QBHSTR, NG QBSTGT, S QBSTE, & Q)FISTET
— wpsmu CUITTFT apTQan Tes |6 (Q)bd aUTideSH6T 61hd 9 TeHTLOETUIGHT Feu/TahaflcD

Qumiss il Hereres 2

A) Deurer- Q) -smev, 6)L_cved B) QemiGsm eni_, GlL_cved)
C) s anmed D) Guon® oevgdls, opdom
g G hayesntt Layewet Bl Feps Fi%mSsalns 2

A) swreks Freveus) B) a9CGeusnepsi

C) etresl) GlLigestL D) ernb.gf). gresGr

@BPwralet LML 19 6y OLITBATTSTT HIGHTL I&E 1B ITe ‘augsmed Cam Lim oL’
(Drain theory) werewauss CsFweuns 2

A) GuGgmeveyr Gogsm B) usnmGesr Suwimig)

C) Gamumev Fmayewr CxnsGev D) snsmumis GperGymgd)

‘B o%LITGY 9oLt LITaVIY 6D’ 6THS LT FujL_er O)FmL_ieoL_wg ?

A) Goess L& B) sapwis g &

C) wym&evls Lol § D) 9Qwiés &56%5 001 GLimt
1953 waplev wp@genioliL] e»eRnTidSD 6T Seneveuins Liesiwmmplwei ?
A) Gs. e1ib. Lieslldsi B) amd. eretr. estav(p

C) ovused &) D) &). 9. wevr

@BFwreysEHL LUTHaVSTeISHEGLD @ent_Guw 199960 pL_Bg ‘FmiGled Cuimi’ (@)UiLigujib
LSS LILIBH B DS

A) o uGrayest allggul B) <uCGrayesr Ligmdgib

C) <uGrayesr QL& obLimdev D) o,uGrayett Lieen e
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15.

16.

Consider the below statement regarding the monsoonal rainfall in Kerala.
1) Kerala is named as “Gateway of monsoon” in India.
2) Palakkad Gap influences the spatial pattern distribution of rainfall.
3) Thulavarsham is the principal rainy season in Kerala.

Which of the statement given is/are correct ?
A) 1 and 2 only B) 2 and 3 only C) 1,2and 3 D) None

Consider the following passes in the Western Ghats in Kerala.

1) Thamarassery pass

2) Achankovil pass

3) Kambam pass

4) Arampadi pass
Which of the following is the correct order of their location from north to south ?
A) 1-2-3-4 B) 1-3-2-4 C) 1-2-4-3 D) 1-4-2-3

Which of the statement given below is not true regarding the characteristics of
tropical cyclones ?

A) Originate both in land and ocean in the tropical regions.

B) Low-pressure centre with high wind velocity.

C) Not all depressions are turned into cyclones.

D) Cumulonimbus cloud surrounds the core of the cyclone.

Which of the soil commonly found in the humid areas where having high temperature
and heavy rainfall with alternate wet and dry periods ?
A) Alluvial soil B) Black soil C) Red Sall D) Laterite soil

Which of the following region is known as the Big Game Country ?
A) African Savannah B) Amazon rain forest
C) Arctic Siberia D) Downs in Australia

In the Budget of 2022-23, which of the following is a transformative approach for
economic growth and sustainable development which is driven by seven engines
namely, Roads, Railways, Airports, Ports, Mass Transport, Waterways and Logistic
infrastructure ?

A) P.M. GatiShakti B) P.M. Gatimman

C) P.M. Garib Kalyan D) P.M. Kisan Samman
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Gagarmailed Limeubenlp ClLmfley $PSs SLpdbseni yPldbamsanws LIMFedhsa Lb.

1) @BFwrailed Casgert ‘Liheu eoLpuilest BiewpeuTuiled’ 6Tem HenLpdhaL
LBE DS

2) unewssnly Qe Gleuad ewpliGumpflaler Q)L ehaminbs wep albCunsdeas
(spatial pattern distribution of rainfall) LT®4% ).

3) sivmeuiaub Cagarraled (LpSEHW LOLPSHTGLD.

Casr@ssLILL L yplsemsalley 618 Fhlwnerg 2

A) 1 womib 2 o Bib B) 2 wpmib 3 o B

C) 1,2 wpmub 3 D) @emeu 1510y Q)evemev

Cagarnaiey Com@s0smL_iF& weneuileh 2 6iTar LIGHTeUIHLD FEwTeUTUIHE 6T

% 6L GHH) W 15135 GIT

1) smogGsii sewreumdl

2) odFe1Gsmulley HesTal Tl

3) sibLLb Fewreumdl

4) yoibLImg FHessTeuml

Lietreupeuatauppled 618 euL_SHe)bhG COFHEHTS yeneusaflesr @)Ll GG e
Filwmest auflens 2

A) 1-2-3-4 B) 1-3-2-4 C) 1-2-4-3 D) 1-4-2-3

QeuLiLILDETL_6v FpTeuaisefleT &ewn@FwBIser Gl _iLing G08p Cl&ETRSSLILIL (HeTer
616& YMFHHF 2_GETEHLOUIGVG) ?
A) OQeuLiLiei_evll LGS Sefev Flevib LoPpmith SL_6V HFW ()T6ssTig gYILb
2 (1H6UTH)GST D GO
B) @9s smpmler Cousid Qsnewi &®DhS 2 (pSd eLDWLD
C) ymaids s1pay FedF@HLD @FDTauaiiLiTg LOTNI6UFeOEm eV
D) @wCevreflibLiev Gosib @mreueluiesr eoLowiLiGFemwd FLphboHIcTeng)

B S0leuLiLiflenev P YFs e pLiGLmSley o arar FILiLIGLOTET GeuLiL
LOGHTL_GUSF)6V, LOGNLPSSTGU(LPLD QUDGHTL_HTG(LPLD LOTMILOMS) eU(BLD LIS Harhed
QUITGIUTSS HTGHILILI(RLD LDGYST 6T% 2

A) cuessTL_6b LoGusT B) s@Liy wevr C) SPeuLiy oever D) Qanpln safloessr

ereuapd e1psL1 LGS Cuw aflenerwm ® sr@® (Big Game Country) ereirmy
dLPSHLILIGB DS ?

A) L1 9Mds Feucttestm B) <Gogneir wewipdsih

C) <yisys evFiifwm D) <ev&CGredwmaller L ajeren

2022-23 L GlggL” 19.6v, Fremevser, @uuileGavu, allLomrest BleweviBISET, HIGHD(LPHBIHET,
Qeuggesr Curs@Geursgl, Bieuflser wHmLb Ferteur 2 sl L el GLimerp
QupSrBISerTed QuissLILIBLD OLITIRTTSTT ETIFF LoPMILD BTG UGTIFE)
—&SMGT 2 (HLOADD GG (LPGOD 6TG 2

A) P.M. 59555 B) P.M. s@ibioesr

C) P.M. sl sevuwimesst D) P.M. @gnesr gibiomest
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17. Which of the following is growth achieved by the Indian Economy in the Eleventh

Plan period ?
A) An average of 6.7 Percent B) An average of 9.5 Percent
C) An average of 7.9 Percent D) An average of 9.0 Percent

18. Which of the following functions are correct about RBI ?
i) Maintaining price stability while keeping in mind the objective of growth.

i) Maintain public confidence in the system, protect depositors interest and provide
cost-effective banking services to the public.

iii) To facilitate external trade and payment and promote orderly development and
maintenance of foreign exchange market in India.

A) Only (i &ii) B) Only (ii & iii)

C) Only (i &iii) D) All of the above (i, i, iii)

19. The Inter-Ministerial Coordination Committee on the Multidimensional Poverty Index
constituted under NITI Aayog. Which of the following Ministries and Departments
are included in the committee ?

A) Ministry of Agriculture and Farmers Welfare and Department of Fertilizers

B) Ministry of Commerce and Industry and Department of Telecommunications

C) Ministry of External Affairs and Department of Public Enterprises

D) Ministry of Women and Child Development and Department of Food and
Public Distribution

20. The Nobel Prize for Economics 2022 was awarded to 3 American Economists for
their research on
A) For their methodological contributions to the analysis of causal relationships
B) For research on banks and financial crises
C) For improvements to auction theory and inventions of new auction formats
D) For their experimental approach to alleviating global Poverty

21. Which of the following statements are correct about Weber’s Ideal type of Bureaucracy ?

i) Division of labour.

i) Extensive Paperwork.

iii) Well-defined authority of the hierarchy.
iv) Impersonal nature.

A) Only (ii & iii) B) All the above

C) Only (i, iii, iv) D) Only (ii, iii & iv)
22. CEDAW is associated with

A) Children B) Women

C) Disabled persons D) Asylum seekers
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LS Cestymeus) S L_S5mevsFe0 QBT QLITIHTISTILD SJeOL_hd UATTIFF 615 2
A) ggrai 6.7% B) ggmam 9.5%
C) sgmem 7.9% D) gpnaf 9.0%

RBI up®) estaumprd QFwevim®saflcy e1g Flwmersg 2

) eueridfuilesr Grrsaseas warded Glsre(p) aleme Hlanewsserenioeanis GLigsyF6b.

i) el ed Clungwdseafler pbldamasaws GLemiseD, eeuLiLTaTisefe
BOUGHTSEGTLT LITGIHTSS® LoHMILD ClLITEILDSS@hdEF CVFevey GoDhS 6uBIHF
Caenauani auLpmsI%HH6D.

iii) GeualBrL (B 6uidssLd LPmIh LiewTld OlFa)sSised LoHMILD @Q)BFwrTalled oybBlw
OFevmeuest] Fhensulest @LPBISTRT uaTiEF LoPpmitb LigmoMien GLoibL(REis60.

A) (i &ii) " Bib B) (ii &iii) tor"®ib

C) (i &iii) @b D) GuwGev 2 ditar gyewestsgib (i , i, iii)

NITl 9, CursSesr Sp YeoiodsLiil L Liew LMWTesT apieniod Gmluil 16T LBsmet

DLDFFHBIFH @SS Q)L _UNeVTesT QBBISERTLILIS & (LpadleD, LIeTal(bLD 6ThS

YYD LDFFHBIFHGT LOHMILD HIGHDFHGT CFIGHLILIL (BTG 9

A) Geuermesstenio opmitd aNeuFTuIE6T HeV YOLDFFEHLD LOPHMILD 2 JSSHIGOMD

WigssLb wHmb COsmflevgiemm eoLodasid Hmitb C)FTenevs6lSTL i) Feom

O 0O w

)

) Geuafllymey yewindssid wPmith Qg BmieueTBISaN6T Sienm

) Quessiger HmILD GLpbeSser Gobm” (b YeHLOFFHLD LoPMILD 2 68576y LOHMILD
OCung B Cuinss Hiem

2022 gy ib Yyewi(RSsmet ClummernsmisSnsmer Crrued Lifa 3 6lMssL

QOUITHTTSTT FL|ewTi%Eh%E euiselles Q)bs YITUHIFREHTS QULPBISLILIL L G

A) srgest 2 peayseflesr LGLLTOINDSTET YeuisefeT aufl(Lpenp LIBISGHLILIEEhSS TS5

VBB ST LoPpmLd BB OBhEsLy LPBIW Y ITiIFRSSTS

O O0Ow

)
) arvd Casm @) wHmitb UPW 616w auLyaukisener Sy LiLEear GLoLbLi(hdE|se60
) 2 sarmalw e RLPIILIZDEHTRT 9euisailer CFISm6ST e8IF(LPODSHSTS

QeuLifesr Appsaiens B STISSHIaUSHSLI LHD LNTaUHLD FnpHmISailch 6Ta FAWTeTSH 9
i) Osmflevrari L9fey

i) allfleures gy euesIBISGT

iil) g Blemevudledr BesT@ euemTWMIGHLILIL L B STILD

V) seflwefls @uicvyy

A) (i &iii) o @b B) GuGev 2 siter oyenesiggiib
C) (i, iii, iv) o @b D) (ii, iii & iv) or” ()b
CEDAW @)seyL_cir Q)$mL_iLjenr_wig)

A) GBS H6T B) Ouessrser

C) sercwrpmmaei D) sepsb Ca®bCoumrt
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In which year RTI Act came into force ?

A) 2000 B) 2004 C) 2006 D) 2005
Who is the author of the book “Human Rights and Inhuman Wrongs” ?

A) Upendra Baxi B) Anju Soni

C) V. R. Krishna lyer D) Prof. R. P. Remanan

Who preceded Rishi Sunak as Prime Minister of UK ?

A) Liz Truss B) Boris Johnson

C) Dominic Raab D) Suella Braverman

What was the total strength of the Constituent Assembly in 1946 ?
A) 389 B) 292 C) 289 D) 299

Which among is the correct chronological order of the cases of Fundamental Rights
and Directive Principles ?
i) Golak Nath vs State of Punjab
i) Keshvanand Bharati vs State of Kerala
iii) Champakam Dorairajan vs State of Madras
iv) Minerva Mills Ltd. vs Government of India
A) i, ii, iii, iv B) v, ii, i, iii C) i, i, iv, iii D) iii, i, ii, iv

Name the system under which the peasant himself owns the land and is responsible
for payment of land revenue to the government.

A) Dahsala System B) Zamindari System

C) Mahalwari System D) Ryotwari System

Consider the following statements about Panchayath Raj and mark which of the
statement is incorrect ?

A) 1/3 seats are reserved for women at all levels of the Panchayath Raj system.
B) Panchayath Raj is associated with 12" Schedule of the Constitution.

C) Itis under the supervision of Grama Sabha that Grama Panchayath works.

D) Rajasthan was the first state to implement the Panchayath Raj system in India.

Which of the following Articles of the Indian Constitution states that “It shall be the
duty of the Union to protect every State against external aggression and internal
disturbances” ?

A) Article 325 B) Article 354 C) Article 353 D) Article 355
Which instruments are used in Padayani ?

A) Thappu and Chenda B) Mridangam and Thappu

C) Kuzhal and Chenda D) Mizhavu and Maddalam
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o165 ety RT| #L L 1b yoad@ aubss

A) 2000 B) 2004 C) 2006 D) 2005
“Human Rights and Inhuman Wrongs” eretip L$s8sm% e1(Lp@weuri 2

A) o Gugpm Limsed B) <ieps Gamef)

C) afl. . S peyent auwii D) Gugrn@fwi .19, gLoesstesr
Mafl F16HDG (LpesT QEIF VTS LITSLOTTS (Q)(HHS6T

A) e 19 gev B) Gumfev gomeireest

C) Qrmiesdls gL D) s#Quwevevr 9CgeuiGLosir

194660 oypFuwiev Bliewrw FeoLiuflesr Glongs LIGVLD 616G 2

A) 389 B) 292 C) 289 D) 299

9 L1LenL 2 Mewipser LoHmIth 2 Ssr6 s Olsnerenssaies Filwmet srevallens 615/ ?
i) Gamevd Br1g VS LIEHFTLI LOMBlGVLD

i) Gseyeunend Limg® VS Csger omblevib

i) Fbusb Clerengrmgmes VS Gl grev omblevLd

iV) whewrieun thevew IAGIL_L" VS QBB w ojgs

A) i, i, iii, iv B) v, ii, i, iii C) i, i, iv, iii D) iii, i, i, iv

afleuamul) 1Cer flovgems alds (hdsab LOHMILD YTFTEISSH NG Hlev u(HeuTeniL
CFdaiagsD@Ld OummyLiLimet yeniolifer ClLiwengd @GplL ayib

A) sabFmevr eLoLiL] B) eifesigmil oemioiny

C) wammeveumi yemioLiLy D) sQungeumi syemioLiny

LI@hFTWSS gigd LD LIe5T6uHLD HBESE®6Nd H(hSH0 ClBTeET(h 61hS 9Mdhens

SQUDTETS| GTRHTLINSS (%HMlbHa LD

A) LesFTWSE TIghesleT Sy oL L BiGeneyb ClLiehTserd@ 1/3 Q)L miger
RBISSLILIL_ (HGTTSH]

B) wuepemusg g1y pPwevenioriNer 126ug) 9 L cueventL 61 Ol TL_iLjenL W)

C) &umosemuuiesr Cupumiemeaiuied Fumo LEhFTWSSE OFWLIBHB DS

D) @p&uwraled LiehFmgs gag (Lpedpeis oevL(hSSH W (LpSed LOTBIGVLD
JIEY@VS TGHT

“@61Gleuney rBlewgamsub Ceuallliyp sHILHLiLy wPmib 2 61 OF1heI6%EhsE

GTHINS LINGISTLILIG Q@GP HTFGHT SL_OLOWTEGLD TG Fmmitd @)bSw
TP wevenLol 1 NeT LiMey 2

A) 9May 325 B) 9Mey 354 C) L9Mey 353 D) 9fey 355
e wessluiled 6Th% HhallEer LIGTLIRSSLT LIL L 68T 2
A) sy wpmib ClFeenL B) Wmpsmisd wopmib sy
C) Gwe wpmib ClFerenL_ D) ey wpmitb wdserid
-9-
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32. Who is known as the ‘Kerala Chaucer’ ?

A) Ezhuthachan B) Cherussery C) Cheeramakavi D) Rama Panikker
33. Which country hosted the Winter Olympics 2022 ?

A) ltaly B) Canada C) Japan D) China
34. American Cup is given for which particular sports ?

A) Tennis (Women) B) Bridge C) Badminton D) Yacht Racing
35. What is the National game of Bangladesh ?

A) Cricket B) Pato C) Rugby D) Kabaddi
36. Chettikulangara Bharani is associated with a Bhagavathy temple in which

district ?

A) ldukki B) Ernakulam C) Alappuzha D) Kozhikode
37. Who is the first Chairman of Kerala Folklore Academy ?

A) Raghavan Payyanad B) Bhargavan Pillai

C) C. J. Kuttappan D) Keecheri Raghavan

38. The Olympics in which P.T. Usha lost the Bronze medal by a narrow margin ?
A) Moscow B) Los Angeles C) Barcelona D) Sydney

39. Which of the following has announced Herbalife as its official partner for
Tata IPL 2023 ?
A) ICC B) DRDO C) BCCI D) 10C

40. In which city will Prime Minister Narendra Modi attend the Joint Commander’s
Conference — 2023 ?
A) Bhopal B) Indore C) Bangalore D) Pune

41. Which of the following statements is/are false ?
i) Hub operates on data link layer while switch operates on physical layer.
ii) Hub is broadcast type transmission.
iii) Router operates on network layer.
A) (i) only B) (i) and (ii) C) (i), (i) and (iii) D) (ii) and (iii)

42. Which of the following statement is/are true ?
i) Digitizer is an input device.
ii) Plotter is an output device.
iii) Joystick is not an input device.
A) (i) only B) (i) and (ii) C) (i), (i) and (iii) D) (ii) and (iii)

A -10-
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‘Cagor FiFi GTGI M) g{m!_jpaﬁ&l_’lu@umﬁ wrrr 9

A) erpssFFe B) Gl#maGa C) Guind5a9 D) proLicwllgsii
2022 @alismev gedlblild Cumigsenar pLgBw B 615 ?

A) @szm1ed B) serm C) extiumesr D) Gewrm
<0IMss Carlievu e1ps GO L alenanum (H&sm1s aupBIsLILIGB DS 2

A) O_ateslav (G)LIGsTSHET) B) & (s ® alevarwm (b

C) Gui 1hesrL_asr D) uL @ ubswib

LmisaTCsafletr CsAw aleverum B 615 ?
A) Hfs0)%L" B) um G C) g&9 D) &g

&L 19 GaTBISTT Ligent] 61bg meul L $Hed 2 6rar LiseuF Csmuileyr cor
QFmL_iiyyewL_wig 2

A) Q0rs% B) erniewrm@arid C) <yeviiyipm D) GamfléGam(h
Gagarm o%CumevdGevmi (Folklore) wysm_huiler (psed Femeveurr wmr 2

A) grsaueT eLIWBI(R B) umiseuet Letenar

C) &. Gx. gL L e D) 84CGsM prseusst

@dDES ASPWTFSHe L9.19. 2 apT CUBTSVLI LISEESMF QLS eedlbLl%an
5] 9
A) wrevGsr B) ewmev erepgevev C) wimi§Cevmestm D) & ef)

L @iiered 20235 ClaniGLmencvosLicyLr KB STILILYT6U Fnl' L TOTITS
LIesTeuheuaTaIDPley 615 AW aINSSI6TaTS ?
A) ICC B) DRDO C) BCCI D) 10C

6Th% BHISH6V penL_OLmid gl HSSerB oapr( 2023 6 Nuswi 5CunSr Gromg
Shg ClsTT@ i 2
A) GumLimev B) @ewGLmit C) Oumisceni D) yGesr

L9 T0UHLD FDMISaTG) 615 SAUIDTEEIS ?

) apts Gt medlBg Ceowfed Quisigd Cung ol & 199%5s560 (physical)

9 BHSB 0 QUIBIGHH DS

i) emir ereirLigy @aflLigli euens LIMLLAHDLOTGLD.

iii) epL it ClBL @ii% YBEFeV QuIBIGHBDS.
A) (i) v @b B) (i) ommyeb (ii) C) (i), (i) ommyebd (iii) D) (ii) opmycd (iii)
LI T0UHLD FnDMIFETGY 615 2 GRTenLD ?

i) e gt eT6iTLIG @(h 2 6TafL (B FTSGTLD

i)
i) eomiievigd p 2 6Tafl (b FISETLD 96DV
A) (i) o (b B) (i) ommyib (ii) C) (i), (i) ommyep (iii) D) (i) opmyed (iii)
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43. Which of the following is not associated with Virtual Memory ?

44,

45.

46.

47.

48.

49.

50.

A) Swapping B) Spooling
C) Demand paging D) None of the above

Which of the following statements about Ransomware are correct ?
i) Ransomware is a virus which replicate itself.
i) Kind of cyber crime where the attacker gains access to the computer and blocks the
user from accessing, usually by encrypting the data.
iii) The attacker blackmails the victim to pay for getting access to the data.

A) (i) only B) (i) and (ii) C) (i), (ii) and (iii) D) None of these
Ubuntu 20.04 LTS is known as

A) Jammy Jellyfish B) Kinetic Kudu

C) Focal Fossa D) Bionic Beaver

Which of the following statements regarding Satellites launched by ISRO is/are
correct ?

1) CMS-01 is a Communication Satellite.

2) GAST-6A is a Earth Observation Satellite.

3) Mission EOS-03 was Unsuccessful.

4) INS-1C is a Navigation Satellite.

A) Only 1 B) Only 2 C) Only 1 and 3 D) Only 2 and 4

Which of the following Statements about DRDO is/are correct ?

1) DRDO was formed in 1959.

2) INSAS weapons are designed by DRDO.

3) DRDO is under Department of Space.

4) DRDO is headquartered in Bangalore.

A) Only 1 B) Only 4 C) Only 2 D) All the above

Which of the following disease can be diagnosed with Widal test ?
A) AIDS B) Cancer C) Typhoid D) Ascariasis

Which of the following Environmental movements in India is related to
“Hug the trees” ?

A) Narmadha Bachao Andholan B) Jungle Bachao Andholan

C) Appiko Movement D) Chipko Movement

Which city hosted 108™ Indian Science Congress ?

A) Mumbai B) Jalandhar C) Kolkatta D) Nagpur
-12-
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43. ereupeustaunmled 618 alligeucd Oy et OsmLiiL) @ebevrsg 2

44,

45.

46.

47.

48.

49.

50.

A)
C)

o Gau1L 9 B) aivLyadis
g Lomest” GrLigdlmsi D) GuwGe e1giayb @)evemev

g6s1Gamib Geurr LpMlwr L965Tu(HLD FnDmiSalley 615 Filwimesrg 2

i)
i)

ii)

ges1GFmb Geurt e16d1LIG) H16vtTsGeu ClLIFSSLOTGHLD R(h EGUTV Y GLD.

G reweu e1eT@B LIy B ClFUICUSEHT eLPGULD, HiTd@HLIGUIT &esstcollds mesT
gLl QLD G LIWGTLGSHILIIT Ie)GaIdDd FH1bEGLD HFLIT
GDDLD YLD

SMd@Ueut, G L Temeu 9esIGeUsSDG LIHILD ClFSSHILOTY LITHGHLILIL L cuenT

WO S wm.
A) (i) o @b B) (i) ot (i)
C) (i), (ii) ommyrb (iii) D) Qemeu 110y Q)evemev
2 1yevsr(p) 20.04 LTS gy e 616 YVIWLILI(BHFB DS
A) a1bLf) GlggevedlLbesr B) ensergd &6
C) SCumgsed oS>Cumsm D) wGunmesls fauri

@avGrreune eraulii’ L QFwmenssd Canengser O\sm_ivines Les16uLb yBlbeanssafcy
615 FMWTGTS ?

1)
2)
3)
4)

CMS-01 ereirig) qp s&6ued Glsm_iiy ClFwpnensdGser.
GAST-6A eratrLig Lya9) seasmenillin) OlFunensdGsmer.
hayeir EOS-03 Csmevallwent_pbss).

INS-1C @@ CralGsasir O)FwmnHenasGsmer.

A) 1 1" Bib B) 2 1" @b
C) 1 womib 3 or” Hib D) 2 wpmib 4 or” Bib

DRDO wupplw 9eteu@pid gpmisefley 61g Filwmes ?

1)

DRDO 1959 @6 2 (poundsini L g.

2) INSAS 3@ g uysnigser DRDO aumed auigeaieniodsls Ll (Rererest.

3) DRDO aflewrGlevafld giempuilest Gip 2 eirarsg;.

4) DRDO a6t semeveniowsib GlLimiseenileh o 6ireng.

A) 1 o (b B) 4 o @b

C) 2 " (b D) GG 2 direr ojemeirdgLb
LereupLd 6165 Crrevw enaul_med CFTSMET pLPGULD FHEWTL HIIGUTLD ?

A) erdi’ev B) ymmiGmmus

C) evr_vumii® D) wevsriunev

Q@BFwralled LNereupLd 61bE FDMIFGEHLD QuIGHLD “logBiISenar HL 19 1191 ”
Qg mL_iLimeg 2

A)
C)

BingsT LFCFT 96O TeV6sT B) @miGler LgCam 9ybC%mevest
L ICHT QuidsLb D) #5Csm Quidsib

108 augy @BFw yPlafwicd LapT L FL_GHW BSHILD 615 ?
A) @pLbewL B) @evpsit C) Qsmevblasrssr D) prdyyt
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

What is the value of
6.3x6.3+2%x6.3x3.7+3.7x3.7°7
A) 10 B) 100 C) 6.76 D) 1

_ _ 1 1 3.
m m -+ —+—
The decimal number equivalent to 52710 is

A) 1.25 B) 0.25 C) 0.75 D) 0.5

22% % of 400 is

A) 90 B) 80 C) 100 D) 60
... 6°x10* x15°

Simplify 2 X 35 % 5°

A) 2 B) 3 C) 4 D) 5

Findx,if5:7=x:35
A) 30 B) 45 C) 25 D) 40

If the simple interest for an amount of Rs. 10,000/- for 2 years is Rs. 2,400/-, what
is the compound interest for 2 years for the same principal ?
A) 3,000 B) 2,544 C) 2,800 D) 2,500

Find the radius in cm of a sphere whose volume is 361t cm3.
A) 3 B) 6 C) 4 D) None of these

First term and last term of an arithmetic progression are 144 and 300, respectively
and common ratio is 3. Find out the number of terms in this progression.
A) 53 B) 52 C) 54 D) 55

Average mark of 10 students in a group is 25. If one more student is joined in this
group, the average changes to 24. What is the mark of the new student ?

A) 24 B) 14 C) 18 D) 20

A man walks a distance of 600 m along a street in 5 minutes. Find his speed in Km/hr.
A) 6 B) 6.6 C) 7.2 D) 8

Fill in the blanks.

3,6, 11, 18, 27,

A) 38 B) 36 C) 35 D) 37

-14-
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51. 6.3x6.3+2x6.3x3.7+3.7 x3.7 @ BIL) erciren o
A) 10 B) 100 C) 6.76 D) 1

1 1 3
52. 5 + 2 + 10 $& FLOLOIGT BFLD 616w

A) 1.25 B) 0.25 C) 0.75 D) 0.5

53. 400 @b 22%% s16TLIZ) GTGIUaTaYy ?

A) 90 B) 80 C) 100 D) 60
6% x 10* x 15° .

54. X T X5 & eTaflenLoIITS G
A) 2 B) 3 C) 4 D) 5

55. 5:7 =x:35 erafleh X @9 sHewrL_plwia b
A) 30 B) 45 C) 25 D) 40

56. ¢5.10,000/-Gsmes staflw au’ g 2 Y eaaBsensd 5. 2400/- 945 QubbsT, 9GS
9FNIHS 2 YT (HFHEFSHTET Fal (HAUL L) GTRIRIGTE, ?

A) 3,000 B) 2,544 C) 2,800 D) 2,500
57. 361 cm? ser gyarey Osrewi ey CamengGer yusems OlFerig b L Mev

SGTL_PlweLb

A) 3 B) 6

C) 4 D) @ear eigyayib @)sevemnev

58. @ erevrsenils (LpTCRIOWSH 6T (LpFev LoHMILD SenL &) 616wt (LpewmGw 144 oHmyLd
300 wpmitd Glungeures all&sib 3. Qs (LPHTCHTYDSFev 2 6irar C)FmmHsH a6t
GTGUSTGESI S B LIS HGBTL_PlUIeLD.

A) 53 B) 52 C) 54 D) 55

59. @ Gupaile 2 6rer 10 wrewteuisepssmer symam w6 25. @Q)bss @& Lpaled
Grogyitb e(b Lomessteurt Caipgmev, Fumem 24 4% ommyib. LSw Lomessteudlest LG 16)L1cssT
GTGITGOT ?

A) 24 B) 14 C) 18 D) 20

60. a5 wellser @@ Csmalsy 600 L5 Fsems 5 HLOL_Bisafled BLEFDT6H. 6uis
Gousgensg FILL/1oessflufled FHevor_mlwiayLb

A) 6 B) 6.6 C) 7.2 D) 8
61. QeuppL_misenar HuLiiaLb.

3,6,11,18, 27,

A) 38 B) 36 C) 35 D) 37
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62.

63.

64.

65.

66.

67.

68.

69.

70.

f2+3=8;4+5=24;1+8=9,thenwhatis3+67?
A) 12 B) 21 C) 20 D) 22

Find the odd one out.
i) 13 i) 17 i) 23 iv) 27
A) 13 B) 17 C) 23 D) 27

EARTH : FBSUI : : FRUIT :
A) GSVJS B) GQVJU C) GSVJU D) GSVKU

A is B’s sister. C is B’s father. D is C’s mother. Then how is A related to D ?
A) Daughter B) Granddaughter
C) Father D) Grandfather

Akhil walks 25 km towards East and turns to right hand side and takes a drive of
8 km. He then turning to his right, travels another 10 km. Again he turns to his left
and walks 6 km. After that he turns to his right and travels 15 km. How far is he from
his initial position and in which direction ?

A) 20 km West B) 16 km North

C) 14 km South D) None of the above

What is the angle between the hour hand and minute hand at 12 : 10 ?
A) 50° B) 55° C) 60° D) 65°

39 November 1994 falls on Thursday. What was the day of 20" March 1995 ?
A) Friday B) Saturday C) Sunday D) Monday

Find the mirror image of the word MACHINE.
A) INHCAM B) 3INIHOAM
C) AMIHOAM D) EMIHCAM

Looking into a mirror, the clock shows 12 : 15 as the time.
The correct time is
A) 11:45 B) 11:15 C) 12:45 D) 12:15

-16-
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65.

66.

67.

68.
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70.
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2+3=8;4+5=24;1+8=9 eratiprav, 3 + 6 er637607 ?

A) 12 B) 21 C) 20 D) 22
QNSPWITFLOTGT QRETeODS HERTL_PlicyLD.

i) 13 i) 17 i) 23 iv) 27
A) 13 B) 17 C) 23 D) 27

EARTH : FBSUI : : FRUIT :
A) GSVJS B) GQVJU C) GSVJU D) GSVKU

A erariieui B wWieir sGsnsifl. C ereiruieui B uiler spens. D eresreui C ulflesr smui,
etesflev, A eriiiig D o 1 e Glgm_iim@ib 2

A) a6t B) GCus® C) <yium D) snsam

G FpdG CprsG 25 &b pL s auewg LSHD P 8 GIS @ BHEwri.
Lesteart yeurt Hevg) euevg LIGsLb HpbLdl, Cogyib 10 §).15. LwesIES . LBer(hLb
Q@)La&1 uGsLb oL 6 F).15 BLSHpIT. YFeT D@ uews LSsd FHbL) 15 &).16
LwesSEpr. eui seisk YuibL plevevuilled(Bhdl 6TelauaTey HITLD LOHMILD 6ThHS
Sevguiled @Q)HSH T

A) 20 &).15 GunGs B) 16 %.15 au_sGs

C) 14 .16 Q3pGs D) GuGev e1g1ayib @)cvemev

12:10 wewfld@, wewflGrr (Lpeiteps@Lb, FILOIL (LpeTepd@HLb @enL_ G o sirar Gxmentib
GTGHTGOT 9

A) 50° B) 55° C) 60° D) 65°

peutbuur 3, 1994 awmpsSipenio 9y@ib. 1995 9uib e omid 20 b Cs5%)

TGS TS FILPEOLD 9

A) OeusiraflsGpeLo B) #asflaGpemio

C) e@mippus&ipenio D) &5 Gipenio

MACHINE eresip eumigengullesr sesrentmig L1LbL Ll &emsd HevstL_plwieyLb
A) INIHCAM B) INIHOAM

C) IMHOAM D) EVIHCAM

FenrewtTig uiled LImidsmev, H9&sTub 12 115 Crusewssd ST (HhFmG).
61660 2 cusremLowimest GpyLb

A) 11:45 B) 11:15 C) 12:45 D) 12: 15
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71.

72.

73.

74.

75.

76.

77.

Choose the most appropriate synonym for the underlined word.
| am ready to concede that the decision was a wrong one.
A) Propose B) Agree C) Support D) Refuse

Fill in the blanks with the correct option.
He saw Sl of police sitting under eucalyptus tree.
A) the, an B) a, a C) an, an D) an, a

Identify the correct sentence.

A) | read the book yesterday.

B) | have read the book yesterday.
C) I has read the book yesterday.
D) | would read the book yesterday.

Let us go to the beach, ?

A) can we B) shan’t we C) shall we D) can't we

Identify the correct plural form of ‘commander-in-chief’.
A) commanders-in-chief B) commander-in-chiefs

C) commanders-in-chiefs D) commander-in-chieves

Complete the sentence with the correct conditional clause.
If I had gone to New Delhi, __

A) | could see the Qutub Minar

B) I could have seen the Qutub Minar

C) | saw the Qutub Minar

D) | might see the Qutub Minar

Fill in the blanks with the correct option.

A new mobile tower next month.
A) is been installed B) is be installed
C) is being installed D) is installed

-18-



78.

79.

80.

81.

82.

83.
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Fill in the blanks with the most appropriate option.
| youtoaduel

A) dare B) must
C) ought to D) may

Fill in the blanks with the appropriate preposition.
| will see you 9 O’ clock.
A) in B) on C) for D) at

Choose the correct indirect form of the given sentence.
“Don’t go near the beach, Alan”, the mother said.

A) The mother told Alan don’t go near the beach.

B) The mother told Alan you don’t go near the beach.
C) The mother told him not to go near the beach.

D) The mother told Alan not to go near the beach.

Fill in the blanks with the correct option.

Sunflower is than Jasmine.
A) more beautiful B) beautifuller
C) most beautiful D) as beautiful

Identify the segment of the sentence that contains a grammatical error.

If there is no error, mark ‘No Error’.

Though Tom studied hardly (A) / throughout the night (B) / he could not pass the
exam (C) / No error (D)

A) A B) B C) C D) D

Fill in the blanks with the correct option.

Make sure that all arrangements are perfect prior the inaugural
function.
A) than B) to C) then D) before
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84.

85.

86.

87.

88.

89.

90.

Select the most appropriate option to improve the underlined segment
grammatically.

Either Anil or his friends has completed the painting.

A) have completed B) have been completed

C) has been completed D) no improvement

Select the most appropriate meaning for the given idiom.

At sixes and sevens.

A) angry B) confused or difficult
C) ina hurry D) surprised

Select the alternative which is the best substitute for the given phrase.
A person appointed to settle a dispute.
A) auctioneer B) argumentator

C) appellant D) arbitrator

What is the full form of OTT ?
A) Over — The — Table B) On—The —Top
C) Over—-The —Top D) On — The — Television

Choose the correct option to fill the blank.
Lakshmi is an of our college.

A) alumnus B) alumna C) alumnae D) alumni

Complete the sentence with the correct option.
the teacher, the students stopped talking.
A) Saw B) Sees C) Seen D) Seeing

Choose the correct plural form of the word ‘stimulus’.
A) stimuleses B) stimulae

C) stimuli D) stimulum
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9. ynisenauuller Liwenestd@GHPl% @b FlwmeT (Q)enenT 61 ?
A) @efliiy — pmed B) &gy — Goeirenio
C) geuitiy — euaerth D) e euriiy — @efleoio
92. lipFewib P» @QeflCHHLD LodHe6T
Fmiens erraill Fnlp.
Q@s@wafley LuleTn apLd yewtl wrg ?

A) o wia) paIHF sjew B) sp@piGupp 6w
C) 2 mhous oyewfl D) 6103515515 2 auenLowiesst
93. Wy Ouprs e1da&6lFTO T ListTarmed GlLiwT 6165 BHTDID, scHesT
GTGOTLIM.
A) alewerQuwdsd B) allewesrpmmi
C) allewangGamey D) Quuwgssib

94. yevesalliieh 6TGTLISET 9),BIFHeVLT LIGLD ?
A) Modernism B) Postmodernism C) Romanticism D) Naturalism
95. ‘wngib 2arCGy wreusLd Caerflit
B&ILb pIMILD LIDIST UTIT GTGSTLILIMLG WGUT 2
A) senflwcst Lymi@ et B) sparemeuwimi
C) Gur@ &g D) 99 gnpesuwimt
96. @pGenesemar aumenF iLi(hSH% ?
A) wevede, @SLD, OlBUISED, LT, HDGHF
B) wmee, Qpuise, s, Lpvee, GnBlehHF
C) @mlerd, wpevemev, LITeneV, LO(hHLD, GBUIS6D
D) @Mer&, wevedev, LD, GlBUISED, LITe6
97. &pny.
1. eumdiGomprs Lm_evsafled reT HILI LITL_0&H6T (LPSeSI_LD UHSFGTDET.
2. Werewarts Cupplenetis CUmPmih LOABEST LTSS en6sTd ST (PILD LIML_GVHGT 2 @LD.
3. Quum_evsafleh 61ge%, CLomeneTt, @end BBIS6T Cl&smesst(R) LIML_L1LI(ReUFeven6v.

Cop@GDILiI@ mpPled silunereupean GClsMey CFuis.

A) oemersgib Fif B) @&mny 2, 3 &

C) wpm 1,2 & D) ampmy 1, 3 &
98. GlsGevio + et CFigOF(pSd FewL_LiLig) ?

A) Qp(®eusst B) GlpLg wesr C) Gs®enLowies D) Om®eviowmrer
99. u. EEIID Yeuisaile L LILsalled @)aIa D cpeiTn ?

A) epesipmd 2 evsLIGLImT B) ywelGeov g Gz mews]

C) Gevevns Liewrib D) Gleusswrpos

100. ymewarls OLrES) yPereusd HBsS
Lo(hemar sHY LbFEGLD Ol Hemar
Q@eiagsailey HHSP eTGTLIGET ClLImHeT wirg ?

A) wwssib B) o udi C) siemewr D) &ynms®
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Space for Rough Work
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Space for Rough Work
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@2106 Jal ) @OBHDBHHIW
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Prwwoe) @iblr focres

@103 )6IB80S @6 ag)emo : 100

alomocudll modssy : 100

mawo : 75 dladlg’

983 Y0MNIAMIIHWDH6)188 MIdEGUeBwd

. 32108y SSLIOQY M@} ME 62108} ety ogalatiiena. A, B, C, D ag moel @oeso se-owisgleas
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3. 80800 963YNId®AEe 0 NWLIVISIES 62106 J01)(VH> BOLHO G0 @IS aldlemd anogloal edlal

10.

11.

12.

13.

14.

SOOIGRHINDENSHOOIWIEN

. MeBRHHM UG 2IBlH6IM BRHHO BHOWIM MIMio QUIMIIRAO® BHOWIRILES 6106 jol)(REm06m’

eIElBOIMO®BT @@ 9SS! MANlerIg0es CBRLYITINR|SIBETENE®OM.
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BOW GalRYd0d HEMBILIL); GPLANID H66NEE:IT @OE6I0 0 MAEErIgnns YyERLEATD OE06MBINIBIE:W0
@OE® EOHHO BHOWILYSS aRBEMDOW 62106) alyReo MOFl QUOBYH®I0 H2IEYEB®OEM. EOE aRBRIL0
(IWOMEQIS®OEM).

. 807 @aI0B)8alg]dleal 1 @)@ 70 cuenw)es @2 106w snogfladlaie mal¥lamoe @payslafidleniom,. e

@2103)61B8)6'S @RAMmA0, MDA ag)MTilau uosnImUla) Mot EMBWRES) eoiflati mOW YA MWDl LSS 2106 JETRSOEM
@DUWIDRIHH M.

. G2103Y a RIRHOBIOMD @OOITVOM Galzdlmy H@IZIMIMaT BIMI0 g)PIMITD VNS Galg)d(d CoIBMBISIENS. 0@

HOMOO H6NBLANISlHNIM@IMIBE  dr)Clalid@BH60Q) HaIEIUlHHONILM®IEM.

HOMOETBUWD BOEUNG|SIAMOIM @DMoElHHMEIM aimi’ ddmEsNSLIOMSION A0a1}00mI8s TdeGUemBUd
©aLIAIIBOo AUIOWBN}e:.

NAWIOEMo HRees 8060 ¢alosyalmio (A), (B), (C), (D) agam moel pamassd mmidleso. td
WIOHO0 HBOOEHHSYOD) 6. ag)o. @DD. HEBOLHSLIOMVIM eNIMOR|S 62106 MMIGIN EMOOW IR LTWIEBTI0
agaflafleeyam eialg (srienlid) moi®o MRIBWO B048a 0 6RIOM Ealoaf 8alh 9aleoulla] d@0a leee:.

89609 VAW EMEETIM o B0} 2IDH6 EIElBIBD o BRI OMREMAETIMo 1/3 20d66 Maymo)B®:@ 0
6.21Q)Jo. HOMOO BOEUAQISIOMOMD B2I0B RS MODES Moy JB@lg).

al@lexo Moo H:PMEim @yemMId, HEmEGHSRIMENMOElerigen agdla |onoemewd 60y oeEanodmAwioe
al@::0000@ ANlg 0 l}OE®IGAIOE00M aloslgl.

mdCEEBWD H:d0Madd aloellgsnesmoan. aldled@ (@ABLNHS MSOMBHEWI @RWIMISs Yymo
MSOM BB 6.21QIM HEBIPNIDMLB:08 EREWON JRO®S] (al6 Joalleénimmoem.
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